Item Number	Item Description	Qty	Unit Replacement Cost <mark>CAD</mark>	Total Replacement Cost CAD	Unit Replacement Cost <mark>USD</mark>	Total Replacement Cost USD
DC04-02MP	4216-02-04 NPT MALE CRIMP FITTING	26	\$3.12	\$81.12	\$2.40	\$62.40
DC04-04BPF	42026-04-04 BSPP FEMALE SWIVEL	3	\$3.05	\$9.14	\$2.34	\$7.03
DC04-04BPF90T	42926-04-04 BSPP FEMALE 90 ELBOW	9	\$6.29	\$56.59	\$4.84	\$43.53
DC04-04FF	4208-04-04 NPT FEMALE SOLID CRIMP	1	\$6.38	\$6.38	\$4.91	\$4.91
DC04-04FJ45T	4245-04-04 JIC FEMALE 45' ELBOW	19	\$7.15	\$135.89	\$5.50	\$104.53
DC04-04FJ90T	4295-04-04 JIC FEMALE 90' ELBOW	10	\$4.82	\$48.24	\$3.71	\$37.11
DC04-04FJ90TL	4295L-04-04 JIC FEMALE LONG 90'	6	\$11.86	\$71.14	\$9.12	\$54.72
DC04-04MJ	4215-04-04 JIC MALE CRIMP FITTING	12	\$3.34	\$40.03	\$2.57	\$30.79
DC04-04MP	4216-04-04 NPT MALE CRIMP FITTING	5	\$2.72	\$13.58	\$2.09	\$10.45
DC04-04MS	4216X-04-04 NPT MALE SWIVEL CRIMP	12	\$6.82	\$81.79	\$5.24	\$62.92
DC04-04MV	4260-04-04 FLARELESS COMPRESSION	4	\$11.28	\$45.12	\$8.68	\$34.71
DC04-04OFT	42083-04-04 ORFS FEMALE CRIMP	2	\$4.15	\$8.30	\$3.19	\$6.38
DC04-05FJ	4205N-05-04 JIC FEMALE CRIMP	8	\$3.24	\$25.92	\$2.49	\$19.94
DC04-05FJ45T	4245-05-04 JIC FEMALE 45' ELBOW	2	\$8.40	\$16.80	\$6.46	\$12.92
DC04-06FJ	4205N-06-04 JIC FEMALE CRIMP	7	\$3.24	\$22.68	\$2.49	\$17.45
DC04-06MJ	4215-06-04 JIC MALE CRIMP FITTING	6	\$3.98	\$23.90	\$3.06	\$18.38
DC04-06MP	4216-06-04 NPT MALE CRIMP FITTING	7 2	\$2.95	\$20.65	\$2.27 \$7.05	\$15.88
DC04-06OF90T DC04-06OFT	42983-06-04 ORFS FEMALE 90 ELBOW	3	\$9.17 \$4.72	\$18.34	\$7.05 \$3.64	\$14.11 \$10.91
DC04-080F1 DC04-08MP	42083-06-04 ORFS FEMALE CRIMP 4216-08-04 NPT MALE CRIMP FITTING	3 11	\$4.73 \$5.47	\$14.18 \$60.19	\$3.64 \$4.21	\$10.91
DC04-08MP DC06-04FF	4208-04-06 NPT FEMALE SOLID CRIMP	11	\$5.47 \$6.96	\$6.96	\$4.21	\$40.30
DC06-04FJ	4205N-04-06 JIC FEMALE CRIMP	10	\$0.90 \$10.46	\$104.64	\$8.05	\$80.49
DC06-04MP	4216-04-06 NPT MALE CRIMP FITTING	16	\$3.38	\$54.14	\$2.60	\$41.65
DC06-04MS	4216X-04-06 NPT MALE SWIVEL CRIMP	2	\$7.97	\$15.94	\$6.13	\$12.26
DC06-04MV	4260-04-06 FLARELESS COMPRESSION	2	\$12.24	\$24.48	\$9.42	\$18.83
DC06-05MV	4260-05-06 FLARELESS COMPRESSION	4	\$10.66	\$42.62	\$8.20	\$32.78
DC06-06FA	4204-06-06 SAE FEMALE CRIMP FITTING	6	\$6.05	\$36.29	\$4.65	\$27.92
DC06-06FF	4208-06-06 NPT FEMALE SOLID CRIMP	8	\$7.63	\$61.06	\$5.87	\$46.97
DC06-06FJ	4205N-06-06 JIC FEMALE CRIMP	2	\$3.53	\$7.06	\$2.72	\$5.43
DC06-06FJ45T	4245-06-06 JIC FEMALE 45' ELBOW	10	\$7.06	\$70.56	\$5.43	\$54.28
DC06-06FJ90T	4295-06-06 JIC FEMALE 90' ELBOW	15	\$5.88	\$88.20	\$4.52	\$67.85
DC06-06FJ90TL	4295L-06-06 JIC FEMALE LONG 90'	9	\$12.10	\$108.86	\$9.30	\$83.74
DC06-06FN	4206-06-06 NPSM FEMALE SWIVEL CRIMP	3	\$7.15	\$21.46	\$5.50	\$16.51
DC06-06MF90T	4292-06-06 INVERTED FLARE MALE 90	1	\$14.64	\$14.64	\$11.26	\$11.26
DC06-06MJ	4215-06-06 JIC MALE CRIMP FITTING	8	\$3.24	\$25.92	\$2.49	\$19.94
DC06-06MP	4216-06-06 NPT MALE CRIMP FITTING	17	\$2.81	\$47.74	\$2.16	\$36.72
DC06-06MP	4216-06-06 NPT MALE CRIMP FITTING	15	\$2.81	\$42.11	\$2.16	\$32.39
DC06-06MS	4216X-06-06 NPT MALE SWIVEL CRIMP	8	\$6.62	\$52.99	\$5.10	\$40.76
DC06-06OF90T	42983-06-06 ORFS FEMALE 90' ELBOW	7	\$9.50	\$66.53	\$7.31	\$51.18
DC06-06OFT	42083-06-06 ORFS FEMALE CRIMP	4	\$4.47	\$17.86	\$3.43	\$13.74
DC06-06RM	4200-06-06 SPLICER CRIMP FITTING	4	\$8.79	\$35.14	\$6.76	\$27.03
DC06-08FJ	4205N-08-06 JIC FEMALE CRIMP	17	\$4.27	\$72.62	\$3.29	\$55.86
DC06-08FJ	4205N-08-06 JIC FEMALE CRIMP	10	\$4.27	\$42.72	\$3.29	\$32.86
DC06-08FJ90T	4295-08-06 JIC FEMALE 90' ELBOW	6	\$7.73	\$46.37	\$5.94	\$35.67
DC06-08MJ	4215-08-06 JIC MALE CRIMP FITTING	6	\$4.68	\$28.08	\$3.60	\$21.60
DC06-08MP	4216-08-06 NPT MALE CRIMP FITTING	23	\$3.39	\$77.88	\$2.60	\$59.91
DC06-08MS	4216X-08-06 NPT MALE SWIVEL CRIMP	5	\$9.74	\$48.72	\$7.50	\$37.48
DC06-08OF45T	42483-08-06 ORFS FEMALE 45 ELBOW	3	\$10.80	\$32.40	\$8.31	\$24.92
DC06-08OF90T	42983-08-06 ORFS FEMALE 90 ELBOW	4	\$10.56	\$42.24	\$8.12	\$32.49
DC06-08OFT DC08-06FJ	42083-08-06 ORFS FEMALE CRIMP	6	\$5.42 \$6.00	\$32.54	\$4.17 \$4.62	\$25.03
DC08-06FJ	4205N-06-08 JIC FEMALE CRIMP 4205N-06-08 JIC FEMALE CRIMP	1 4	\$6.00 \$6.00	\$6.00 \$24.00	\$4.62 \$4.62	\$4.62 \$18.46
DC08-06PP	4216-06-08 NPT MALE CRIMP FITTING	22	\$3.82	\$24.00 \$83.95	\$4.02 \$2.94	\$18.40
DC08-08FF	4208-08-08 NPT FEMALE SOLID CRIMP	12	\$11.66	\$139.97	\$2.54 \$8.97	\$107.67
DC08-08FJ	4205N-08-08 JIC FEMALE CRIMP	12	\$4.32	\$159.97	\$8.97	\$53.17
DC08-08FJ	4205N-08-08 JIC FEMALE CRIMP 4205N-08-08 JIC FEMALE CRIMP	18	\$4.32 \$4.32	\$51.84	\$3.32	\$39.88
DC08-08FJ45T	4245-08-08 JIC FEMALE 45' ELBOW	12	\$ 4 .32 \$9.12	\$109.44	\$3.32 \$7.02	\$84.18
DC08-08FJ90T	4295-08-08 JIC FEMALE 90' ELBOW	12	\$9.60	\$163.20	\$7.02 \$7.38	\$125.54
DC08-08FJ90TL	4295L-08-08 JIC FEMALE LONG 90'	5	\$13.78	\$68.88	\$10.60	\$52.98
DC08-08FN	4206-08-08 NPSM FEMALE SWIVEL CRIMP	4	\$7.35	\$29.38	\$5.65	\$22.60
		·	φ1.00	÷=0.00	4 5.65	<i>~12.00</i>

Item Number	Item Description	Qty	Unit Replacement Cost CAD	Total Replacement Cost CAD	Unit Replacement Cost USD	Total Replacement Cost USD
DC08-08MP	4216-08-08 NPT MALE CRIMP FITTING	5	\$3.68	\$18.38	\$2.83	\$14.14
DC08-08MS	4216X-08-08 NPT MALE SWIVEL CRIMP	12	\$8.21	\$98.50	\$6.31	\$75.77
DC08-08MV	4260-08-08 FLARELESS COMPRESSION	6	\$11.57	\$69.41	\$8.90	\$53.39
DC08-08OF45T	42483-08-08 ORFS FEMALE 45 ELBOW	3	\$11.04	\$33.12	\$8.49	\$25.48
DC08-08OF90T	42983-08-08 ORFS FEMALE 90' ELBOW	9	\$10.32	\$92.88	\$7.94	\$71.45
DC08-08OFT	42083-08-08 ORFS FEMALE CRIMP	14	\$5.76	\$80.64	\$4.43	\$62.03
DC08-08RM	4200-08-08 SPLICER CRIMP FITTING	1	\$11.66	\$11.66	\$8.97	\$8.97
DC08-10FJ	4205N-10-08 JIC FEMALE CRIMP	18	\$5.02	\$90.29	\$3.86	\$69.45
DC08-10FJ	4205N-10-08 JIC FEMALE CRIMP	9	\$5.02	\$45.14	\$3.86	\$34.72
DC08-10FJ45T	4245-10-08 JIC FEMALE 45' ELBOW	3	\$12.58	\$37.73	\$9.67	\$29.02
DC08-10FJ90T	4295-10-08 JIC FEMALE 90' ELBOW	1	\$9.60	\$9.60	\$7.38	\$7.38
DC08-10FJ90TL	4295L-10-08 JIC FEMALE LONG 90'	8	\$18.00	\$144.00	\$13.85	\$110.77
DC08-10MV	4260-10-08 FLARELESS COMPRESSION	4	\$11.62	\$46.46	\$8.93	\$35.74
DC08-10OF45T	42483-10-08 ORFS FEMALE 45 ELBOW	4	\$13.68	\$54.72	\$10.52	\$42.09
DC08-12FJ	4205N-12-08 JIC FEMALE CRIMP	14	\$8.93	\$124.99	\$6.87	\$96.15
DC08-12MP	4216-12-08 NPT MALE CRIMP FITTING	4	\$6.53	\$26.11	\$5.02	\$20.08
DC10-08MP	4216-08-10 NPT MALE CRIMP FITTING	6	\$9.65	\$57.89	\$7.42	\$44.53
DC10-10FJ	4205N-10-10 JIC FEMALE CRIMP	9	\$8.02	\$72.14	\$6.17	\$55.49
DC10-10FJ45T	4245-10-10 JIC FEMALE 45' ELBOW	6	\$12.29	\$73.73	\$9.45	\$56.72
DC10-10FJ90T	4295-10-10 JIC FEMALE 90' ELBOW	8	\$12.67	\$101.38	\$9.75	\$77.98
DC10-10OF90T	42983-10-10 ORFS FEMALE 90' ELBOW	2	\$13.30	\$26.59	\$10.23	\$20.45
DC10-12MJ	4215-12-10 JIC MALE CRIMP FITTING	3	\$9.46	\$28.37	\$7.27	\$21.82
DC12-08MP	4216-08-12 NPT MALE CRIMP FITTING	10	\$7.78	\$77.76	\$5.98	\$59.82
DC12-10FJ	4205N-10-12 JIC FEMALE CRIMP	8	\$12.67	\$101.38	\$9.75	\$77.98
DC12-10OR	4211-10-12 ORB MALE CRIMP FITTING	2	\$13.11	\$26.21	\$10.08	\$20.16
DC12-12FF	4208-12-12 NPT FEMALE SOLID CRIMP	1	\$15.07	\$15.07	\$11.59	\$11.59
DC12-12FJ	4205N-12-12 JIC FEMALE CRIMP	20	\$7.58	\$151.68	\$5.83	\$116.68
DC12-12FJ45T	4245-12-12 JIC FEMALE 45' ELBOW	2	\$11.81	\$23.62	\$9.08	\$18.17
DC12-12FJ90T	4295-12-12 JIC FEMALE 90' ELBOW	7	\$13.20	\$92.40	\$10.15	\$71.08
DC12-12MJ	4215-12-12 JIC MALE CRIMP FITTING	5	\$8.02	\$40.08	\$6.17	\$30.83
DC12-12MP	4216-12-12 NPT MALE CRIMP FITTING	10	\$5.81	\$58.08	\$4.47	\$44.68
DC12-12MS	4216X-12-12 NPT MALE SWIVEL CRIMP	8	\$12.34	\$98.69	\$9.49	\$75.92
DC12-12OF45T	42483-12-12 ORFS FEMALE 45 ELBOW	2	\$20.93	\$41.86	\$16.10	\$32.20
DC12-120FT	42083-12-12 ORFS FEMALE CRIMP	12	\$12.67	\$152.06	\$9.75	\$116.97
DC12-16FJ	4205N-16-12 JIC FEMALE CRIMP	2	\$13.01	\$26.02	\$10.01	\$20.02
DC12-16MP	4216-16-12 NPT MALE CRIMP FITTING	2	\$12.24	\$24.48	\$9.42	\$18.83
DC16-12FJ	4205N-12-16 JIC FEMALE CRIMP	2	\$16.99	\$33.98	\$13.07	\$26.14
DC16-16FJ	4205N-16-16 JIC FEMALE CRIMP	7	\$13.63	\$95.42	\$10.49	\$73.40
DC16-16FJ45T	4245-16-16 JIC FEMALE 45' ELBOW	3	\$19.25	\$57.74	\$14.81	\$44.42
DC16-16FJ90T	4295-16-16 JIC FEMALE 90 ELBOW	6	\$18.14	\$108.86	\$13.96	\$83.74
DC16-16FJ90T	4295-16-16 JIC FEMALE 90' ELBOW	9	\$18.14	\$163.30	\$13.96	\$125.62
DC16-16FJ90TL	4295L-16-16 JIC FEMALE LONG 90	13	\$33.36	\$433.68	\$25.66	\$333.60
DC16-16FJ90TL	4295L-16-16 JIC FEMALE LONG 90'	4	\$33.36	\$133.44	\$25.66	\$102.65
DC16-16MJ	4215-16-16 JIC MALE CRIMP FITTING	4	\$16.08	\$64.32	\$12.37	\$49.48
DC16-16MP	4216-16-16 NPT MALE CRIMP FITTING	4	\$11.38	\$45.50	\$8.75	\$35.00
DKF1512	156PLUS-16 1" 6100PSI WP EXCEEDS	100	\$15.98	\$1,598.40	\$12.30	\$1,229.54
DKF204	122-04:REELED SAE100R2AT HYDRAULIC	815	\$1.78	\$1,447.44	\$1.37	\$1,113.42
DKF204	122-04:REELED SAE100R2AT HYDRAULIC	354	\$1.78	\$628.70	\$1.37	\$483.62
DKF206	122-06:REELED SAE100R2AT HYDRAULIC	1099	\$2.11	\$2,321.09	\$1.62	\$1,785.45
DKF208	122-08:REELED SAE100R2AT HYDRAULIC	106	\$2.40	\$254.40	\$1.85	\$195.69
DKF208	122-08:REELED SAE100R2AT HYDRAULIC	325	\$2.40	\$780.00	\$1.85	\$600.00
DKF212 DKF216	122-12:REELED SAE100R2AT HYDRAULIC	215	\$3.82 \$5.52	\$820.44 \$1.175.76	\$2.94 \$4.25	\$631.11
	122-16:REELED SAE100R2AT HYDRAULIC	213	\$5.52 \$5.52	\$1,175.76	\$4.25 \$4.25	\$904.43
DKF216 DKF4SP12	122-16:REELED SAE100R2AT HYDRAULIC	212	\$5.52 \$7.62	\$1,170.24 \$2,821.47	\$4.25 \$5.97	\$900.18
DKF4SP12	124PLUS-12 3/4" BLACK FOUR SPIRAL	371	\$7.63 \$0.50	\$2,831.47	\$5.87 \$7.21	\$2,178.05
DKF4SP16	124PLUS-16 1" BLACK FOUR SPIRAL	300	\$9.50	\$2,851.20	\$7.31	\$2,193.23
DPWX06-BLUE DPWX08	119B-06:REELED 3/8" SMOOTH BLUE	390	\$1.25 \$5.22	\$486.72	\$0.96	\$374.40
DR12X06	114HT-08:BOXED EXTREME +150C	52	\$5.23 \$5.23	\$272.06	\$4.02 \$4.02	\$209.28
DR12X06	124PLUS-06 3/8" BLACK FOUR SPIRAL	50	\$5.23 \$7.63	\$261.60	\$4.02	\$201.23
DR12X12 DR208	124PLUS-12 3/4" BLACK FOUR SPIRAL	50	\$7.63 \$2.40	\$381.60	\$5.87	\$293.54
DIVEOO	122-08:REELED SAE100R2AT HYDRAULIC	96	\$2.40	\$230.40	\$1.85	\$177.23

Item Number	Item Description	Qty	Unit Replacement Cost CAD	Total Replacement Cost CAD	Unit Replacement Cost USD	Total Replacement Cost USD
DR210	122-10:REELED SAE100R2AT HYDRAULIC	85	\$3.53	\$299.88	\$2.71	\$230.68
DR212	122-10:REELED SAE100R2AT HYDRAULIC	107	\$3.82	\$408.31	\$2.94	\$314.08
JG10-10FJ	4405N-10-10 JIC FEMALE CRIMP	2	\$11.67	\$23.33	\$8.97	\$17.95
JG10-10FJ90T	4495-10-10 JIC FEMALE 90' ELBOW	2	\$18.10	\$36.19	\$13.92	\$27.84
JG10-10MJ	4415-10-10 JIC MALE CRIMP FITTING	2	\$11.86	\$23.71	\$9.12	\$18.24
JG10-10OF90T	44983-10-10 ORFS FEMALE 90 ELBOW	2	\$17.43	\$34.85	\$13.40	\$26.81
JG10-100FT	44083-10-10 ORFS FEMALE SWIVEL	4	\$14.45	\$57.79	\$11.11	\$44.45
JG12-10FJ	4405N-10-12 JIC FEMALE CRIMP	2	\$16.08	\$32.16	\$12.37	\$24.74
JG12-100FT	44083-10-12 ORFS FEMALE SWIVEL	8	\$19.34	\$154.75	\$14.88	\$119.04
JG12-12FJ	4405N-12-12 JIC FEMALE CRIMP	41	\$10.61	\$434.93	\$8.16	\$334.56
JG12-12FJ45T	4445-12-12 JIC FEMALE 45 ELBOW	19	\$21.84	\$414.96	\$16.80	\$319.20
JG12-12FJ90T	4495-12-12 JIC FEMALE 90 ELBOW	24	\$20.64	\$495.36	\$15.88	\$381.05
JG12-12MJ	4415-12-12 JIC MALE CRIMP FITTING	4	\$11.95	\$47.81	\$9.19	\$36.78
JG12-12MP	4416-12-12 NPT MALE CRIMP FITTING	36	\$8.78	\$316.22	\$6.76	\$243.25
JG12-120F45T	44483-12-12 ORFS FEMALE 45 ELBOW	3	\$24.67	\$74.02	\$18.98	\$56.94
JG12-12OF90T	44983-12-12 ORFS FEMALE 90 ELBOW	6	\$24.77	\$148.61	\$19.05	\$114.32
JG12-12OFT	44083-12-12 ORFS FEMALE SWIVEL	1	\$16.66	\$16.66	\$12.82	\$12.82
JG12-16MP	4416-16-12 NPT MALE CRIMP FITTING	36	\$14.30	\$514.94	\$11.00	\$396.11
JG16-12FJ	4405N-12-16 JIC FEMALE CRIMP	1	\$19.39	\$19.39	\$14.92	\$14.92
JG16-12FJ	4405N-16-12 JIC FEMALE CRIMP	1	\$14.98	\$14.98	\$11.52	\$11.52
JG16-12MP	4416-12-16 NPT MALE CRIMP FITTING	24	\$15.07	\$361.73	\$11.59	\$278.25
JG16-16C6290	4499H-16-16 CODE 62 FLANGE 90	6	\$45.94	\$275.62	\$35.34	\$212.02
JG16-16FJ	4405N-16-16 JIC FEMALE CRIMP	44	\$16.37	\$720.19	\$12.59	\$553.99
JG16-16FJ45T	4445-16-16 JIC FEMALE 45 ELBOW	19	\$34.18	\$649.34	\$26.29	\$499.49
JG16-16FJ90T	4495-16-16 JIC FEMALE 90 ELBOW	20	\$31.87	\$637.44	\$24.52	\$490.34
JG16-16FJ90TL	4495L-16-16 JIC FEMALE LONG 90	9	\$36.53	\$328.75	\$28.10	\$252.88
JG16-16MJ	4415-16-16 JIC MALE CRIMP FITTING	22	\$18.82	\$413.95	\$14.47	\$318.42
JG16-16MP JG16-160FT	4416-16-16 NPT MALE CRIMP FITTING	40	\$14.64	\$585.60	\$11.26	\$450.46
KG04-02MP	44083-16-16 ORFS FEMALE SWIVEL	4	\$22.27	\$89.09	\$17.13	\$68.53
KG04-04FJ	4216-02-04 NPT MALE CRIMP FITTING 4205N-04-04 JIC FEMALE CRIMP	2 40	\$3.12 \$2.90	\$6.24 \$116.16	\$2.40 \$2.23	\$4.80 \$89.35
KG04-04FJ45T	4245-04-04 JIC FEMALE 45 ELBOW	40 55	\$7.15	\$393.36	\$2.23	\$302.58
KG04-04FJ90T	4295-04-04 JIC FEMALE 90 ELBOW	47	\$4.82	\$226.73	\$3.71	\$174.41
KG04-04FJ90TL	4295L-04-04 JIC FEMALE LONG 90	52	\$11.86	\$616.51	\$9.12	\$474.24
KG04-04MP	4216-04-04 NPT MALE CRIMP FITTING	61	\$2.71	\$165.43	\$2.09	\$127.25
KG04-04OF45T	42483-04-04 ORFS FEMALE 45 ELBOW	4	\$8.31	\$33.22	\$6.39	\$25.55
KG04-04OFT	42083-04-04 ORFS FEMALE CRIMP	8	\$4.15	\$33.22	\$3.19	\$25.55
KG04-06MJ	4215-06-04 JIC MALE CRIMP FITTING	4	\$3.99	\$15.94	\$3.07	\$12.26
KG04-06MP	4216-06-04 NPT MALE CRIMP FITTING	6	\$2.95	\$17.71	\$2.27	\$13.62
KG04-08MP	4216-08-04 NPT MALE CRIMP FITTING	6	\$5.47	\$32.83	\$4.21	\$25.25
KG06-04FJ	4205N-04-06 JIC FEMALE CRIMP	2	\$10.47	\$20.93	\$8.05	\$16.10
KG06-04MP	4216-04-06 NPT MALE CRIMP FITTING	6	\$3.38	\$20.30	\$2.60	\$15.62
KG06-04MS	4216X-04-06 NPT MALE SWIVEL CRIMP	4	\$7.97	\$31.87	\$6.13	\$24.52
KG06-06FJ	4205N-06-06 JIC FEMALE CRIMP	64	\$3.53	\$225.79	\$2.71	\$173.68
KG06-06FJ45T	4245-06-06 JIC FEMALE 45 ELBOW	51	\$7.06	\$359.86	\$5.43	\$276.82
KG06-06FJ90T	4295-06-06 JIC FEMALE 90 ELBOW	37	\$5.88	\$217.56	\$4.52	\$167.35
KG06-06FJ90TL	4295L-06-06 JIC FEMALE LONG 90	47	\$12.10	\$568.51	\$9.30	\$437.32
KG06-06MJ	4215-06-06 JIC MALE CRIMP FITTING	5	\$3.24	\$16.20	\$2.49	\$12.46
KG06-06MP	4216-06-06 NPT MALE CRIMP FITTING	47	\$2.81	\$131.98	\$2.16	\$101.52
KG06-06MS	4216X-06-06 NPT MALE SWIVEL CRIMP	45	\$6.62	\$298.08	\$5.10	\$229.29
KG06-06OFT	42083-06-06 ORFS FEMALE CRIMP	8	\$4.46	\$35.71	\$3.43	\$27.47
KG06-06OR	4211-06-06 ORB MALE CRIMP FITTING	8	\$4.15	\$33.22	\$3.19	\$25.55
KG06-08MJ	4215-08-06 JIC MALE CRIMP FITTING	5	\$4.68	\$23.40	\$3.60	\$18.00
KG06-080FT	42083-08-06 ORFS FEMALE CRIMP	7	\$5.42	\$37.97	\$4.17	\$29.21
KG06-08OR	4211-08-06 ORB MALE CRIMP FITTING	8	\$4.92	\$39.36	\$3.78	\$30.28
KG08-06OFT	42083-06-08 ORFS FEMALE CRIMP	8	\$10.80	\$86.40	\$8.31	\$66.46
KG08-08FJ	4205N-08-08 JIC FEMALE CRIMP	39	\$4.32	\$168.48	\$3.32	\$129.60
KG08-08FJ90T	4295-08-08 JIC FEMALE 90 ELBOW	43	\$9.60	\$412.80	\$7.38	\$317.54
KG08-08J45T	4245-08-08 JIC FEMALE 45' ELBOW	2	\$9.12	\$18.24	\$7.02	\$14.03
KG08-08MJ	4215-08-08 JIC MALE CRIMP FITTING	49	\$4.32	\$211.68	\$3.32	\$162.83
KG08-08MP	4216-08-08 NPT MALE CRIMP FITTING	18	\$3.67	\$66.10	\$2.82	\$50.85

			Unit	Total	Unit	Total
Item Number	Item Description	Qty	Replacement Cost CAD	Replacement Cost CAD	Replacement Cost USD	Replacement Cost USD
KG08-08MS	4216X-08-08 NPT MALE SWIVEL CRIMP	10	\$8.21	\$82.08	\$6.31	\$63.14
KG08-080FT	4210A-08-08 NRFT MALE SWIVEL CRIMP 42083-08-08 ORFS FEMALE CRIMP	6	\$5.76	\$34.56	\$4.43	\$26.58
KG08-08OR	4211-08-08 ORB MALE CRIMP FITTING	7	\$5.42	\$37.97	\$4.17	\$20.58
KG08-10MJ	4215-10-08 JIC MALE CRIMP FITTING	3	\$5.42	\$16.27	\$4.17	\$12.52
KG08-12FJ	4205N-12-08 JIC FEMALE CRIMP	6	\$8.93	\$53.57	\$6.87	\$41.21
KG12-12FJ	4205N-12-12 JIC FEMALE CRIMP	17	\$7.58	\$128.93	\$5.83	, \$99.18
KG12-12FJ45T	4245-12-12 JIC FEMALE 45 ELBOW	14	\$11.81	\$165.31	\$9.08	\$127.16
KG12-12FJ90T	4295-12-12 JIC FEMALE 90 ELBOW	9	\$13.20	\$118.80	\$10.15	\$91.38
KG12-12MJ	4215-12-12 JIC MALE CRIMP FITTING	4	\$8.02	\$32.06	\$6.17	\$24.66
KG12-12MP	4216-12-12 NPT MALE CRIMP FITTING	22	\$5.81	\$127.78	\$4.47	\$98.29
KG12-12MS	4216X-12-12 NPT MALE SWIVEL CRIMP	6	\$12.34	\$74.02	\$9.49	\$56.94
KG12-120FT	42083-12-12 ORFS FEMALE CRIMP	8	\$12.67	\$101.38	\$9.75	\$77.98
KG12-12OM	42093-12-12 ORFS MALE CRIMP FITTING	8	\$18.43	\$147.46	\$14.18	\$113.43
KG12-16FJ	4205N-16-12 JIC FEMALE CRIMP	4	\$13.01	\$52.03	\$10.01	\$40.02
KG12-16MP	4216-16-12 NPT MALE CRIMP FITTING	9	\$12.24	\$110.16	\$9.42	\$84.74
KG16-12FJ	4205N-12-16 JIC FEMALE CRIMP	3	\$16.99	\$50.98	\$13.07	\$39.22
KG16-16FJ	4205N-16-16 JIC FEMALE CRIMP	20	\$13.63	\$272.64	\$10.49	\$209.72
KG16-16FJ45T	4245-16-16 JIC FEMALE 45 ELBOW	11	\$19.25	\$211.73	\$14.81	\$162.87
KG16-16MJ	4215-16-16 JIC MALE CRIMP FITTING	10	\$16.08	\$160.80	\$12.37	\$123.69
KG16-16MP	4216-16-16 NPT MALE CRIMP FITTING	26	\$11.38	\$295.78	\$8.75	\$227.52
KG16-16MS	4216X-16-16 NPT MALE SWIVEL CRIMP	4	\$18.48	\$73.92	\$14.22	\$56.86
PG06-06FJ	4205N-06-06 JIC FEMALE CRIMP	3	\$3.53	\$10.58	\$2.71	\$8.14
PG06-06FJ45T	4245-06-06 JIC FEMALE 45 ELBOW	10	\$7.06	\$70.56	\$5.43	\$54.28
PG06-06FJ90T	4295-06-06 JIC FEMALE 90 ELBOW	4	\$5.88	\$23.52	\$4.52	\$18.09
PG06-06OF90T	42983-06-06 ORFS FEMALE 90 ELBOW	4	\$9.51	\$38.02	\$7.31	\$29.25
PG06-06OFT	42083-06-06 ORFS FEMALE CRIMP	4	\$4.47	\$17.86	\$3.43	\$13.74
PG08-08C61 PG08-08C6145	4209-08-08 CODE 61 FLANGE CRIMP	4	\$13.30	\$53.18	\$10.23	\$40.91
PG08-08FJ	4249-08-08 CODE 61 FLANGE 45 ELBOW 4205N-08-08 JIC FEMALE CRIMP	4	\$18.82 \$4.32	\$75.26 \$17.28	\$14.47 \$3.32	\$57.89 \$13.29
PG08-08FJ90T	4205N-08-08 JIC FEMALE 90 ELBOW	4	\$4.32 \$9.60	\$17.28	\$5.32 \$7.38	\$15.29
PG08-08MJ	4255-08-08 JIC MALE CRIMP FITTING	2	\$9.00	\$8.64	\$3.32	\$6.65
PG08-08MP	4216-08-08 NPT MALE CRIMP FITTING	5	\$3.67	\$18.36	\$2.82	\$14.12
PG08-080F90T	42983-08-08 ORFS FEMALE 90 ELBOW	4	\$10.32	\$41.28	\$7.94	\$31.75
PG08-08OFT	42083-08-08 ORFS FEMALE CRIMP	4	\$5.76	\$23.04	\$4.43	\$17.72
PG08-12FJ	4205N-12-08 JIC FEMALE CRIMP	9	\$8.93	\$80.35	\$6.87	\$61.81
PG08-12FJ90T	4295-12-08 JIC FEMALE 90 ELBOW	9	\$18.43	\$165.89	\$14.18	\$127.61
PG08-24KMF	42068-24-10 JAPANESE METRIC 30	1	\$13.39	\$13.39	\$10.30	\$10.30
PG10-08MP	4216-08-10 NPT MALE CRIMP FITTING	10	\$9.65	\$96.48	\$7.42	\$74.22
PG10-10FJ	4205N-10-10 JIC FEMALE CRIMP	4	\$8.02	\$32.06	\$6.17	\$24.66
PG10-10FJ	4405N-10-10 JIC FEMALE CRIMP	10	\$11.66	\$116.64	\$8.97	\$89.72
PG10-10FJ90T	4495-10-10 JIC FEMALE 90' ELBOW	9	\$18.10	\$162.86	\$13.92	\$125.28
PG10-10MJ	4215-10-10 JIC MALE CRIMP FITTING	2	\$8.55	\$17.09	\$6.57	\$13.15
PG10-10OF90T	42983-10-10 ORFS FEMALE 90 ELBOW	4	\$13.30	\$53.18	\$10.23	\$40.91
PG10-100FT	42083-10-10 ORFS FEMALE CRIMP	4	\$8.64	\$34.56	\$6.65	\$26.58
PG10-120FT	42083-12-10 ORFS FEMALE CRIMP	6	\$17.14	\$102.82	\$13.18	\$79.09
PG12-12C61	4209-12-12 CODE 61 FLANGE CRIMP	2	\$15.65	\$31.30	\$12.04	\$24.08
PG12-12C6145	4249-12-12 CODE 61 FLANGE 45 ELBOW	2	\$24.34	\$48.67	\$18.72	\$37.44
PG12-12C6190	4299-12-12 CODE 61 FLANGE 90 ELBOW	2	\$19.97	\$39.94	\$15.36	\$30.72
PG12-12FJ	4205N-12-12 JIC FEMALE CRIMP	4	\$7.59	\$30.34	\$5.83	\$23.34
PG12-12FJ	4405N-12-12 JIC FEMALE CRIMP	17	\$10.61	\$180.34	\$8.16	\$138.72
PG12-12FJ45T	4245-12-12 JIC FEMALE 45 ELBOW	2	\$11.81	\$23.62	\$9.08	\$18.17
PG12-12FJ45T	4445-12-12 JIC FEMALE 45' ELBOW	5	\$21.84	\$109.20	\$16.80	\$84.00
PG12-12FJ90T	4295-12-12 JIC FEMALE 90 ELBOW	2	\$13.20	\$26.40	\$10.15	\$20.31
PG12-12FJ90T	4495-12-12 JIC FEMALE 90' ELBOW	3	\$20.64	\$61.92	\$15.88	\$47.63
PG12-12MJ	4215-12-12 JIC MALE CRIMP FITTING	7	\$8.02	\$56.11	\$6.17	\$43.16
PG12-12MP	4416-12-12 NPT MALE CRIMP FITTING	10	\$8.78	\$87.84	\$6.76	\$67.57
PG12-12OF90T	42983-12-12 ORFS FEMALE 90 ELBOW	2	\$18.00	\$36.00	\$13.85	\$27.69
PG12-120FT	42083-12-12 ORFS FEMALE CRIMP	2	\$12.67	\$25.34	\$9.75	\$19.49
		~	#00.00	6400.00	624.05	ć 4 4 0 0 0
PG12-16C62	4409H-16-12 CODE 62 FLANGE CRIMP	6	\$32.30	\$193.82	\$24.85	\$149.09
		6 3 6	\$32.30 \$42.82 \$14.98	\$193.82 \$128.45 \$89.86	\$24.85 \$32.94 \$11.52	\$149.09 \$98.81 \$69.12

Item Number	Item Description	Qty	Unit Replacement Cost <mark>CAD</mark>	Total Replacement Cost CAD	Unit Replacement Cost <mark>USD</mark>	Total Replacement Cost USD
PG12-16FJ90T	4495-16-12 JIC FEMALE 90' ELBOW	6	\$30.43	\$182.59	\$23.41	\$140.45
PG12-16MP	4416-16-12 NPT MALE CRIMP FITTING	8	\$14.30	\$114.43	\$11.00	\$88.02
PG16-12FJ	4405N-12-16 JIC FEMALE CRIMP	6	\$19.39	\$116.35	\$14.92	\$89.50
PG16-16C6190	4299-12-12 CODE 61 FLANGE 90 ELBOW	2	\$19.97	\$39.94	\$15.36	\$30.72
PG16-16C62	4409H-16-16 CODE 62 FLANGE CRIMP	1	\$32.64	\$32.64	\$25.11	\$25.11
PG16-16FJ	4205N-16-16 JIC FEMALE CRIMP	2	\$13.63	\$27.26	\$10.48	\$20.97
PG16-16FJ	4405N-16-16 JIC FEMALE CRIMP	19	\$16.37	\$310.99	\$12.59	\$239.22
PG16-16FJ45T	4445-16-16 JIC FEMALE 45 ELBOW	2	\$34.18	\$68.35	\$26.29	\$52.58
PG16-16FJ45T	4445-16-16 JIC FEMALE 45' ELBOW	5	\$34.18	\$170.88	\$26.29	\$131.45
PG16-16FJ90T	4495-16-16 JIC FEMALE 90' ELBOW	2	\$31.87	\$63.74	\$24.52	\$49.03
PG16-16FJ90TL	4495L-16-16 JIC FEMALE LONG 90'	2	\$36.53	\$73.06	\$28.10	\$56.20
PG16-16MJ	4215-16-16 JIC MALE CRIMP FITTING	2	\$16.08	\$32.16	\$12.37	\$24.74
PG16-16MP	4416-16-16 NPT MALE CRIMP FITTING	15	\$14.64	\$219.60	\$11.26	\$168.92
PG16-16OF90T	42983-16-16 ORFS FEMALE 90 ELBOW	3	\$31.30	\$93.89	\$24.07	\$72.22
PG16-160FT	42083-16-16 ORFS FEMALE CRIMP	2	\$20.07	\$40.13	\$15.43	\$30.87
PG16-33KMF	42068-33-16 JAPANESE METRIC 30	1	\$30.29	\$30.29	\$23.30	\$23.30
PG20-20FJ	4405N-20-20 JIC FEMALE CRIMP	5	\$36.48	\$182.40	\$28.06	\$140.31
PG20-20FJ	4405N-20-20 JIC FEMALE CRIMP	2	\$36.48	\$72.96	\$28.06	\$56.12
PG20-20FJ90T	4495-20-20 JIC FEMALE 90 ELBOW	2	\$52.37	\$104.74	\$40.28	\$80.57
PG20-200F90T	44983-20-20 ORFS FEMALE 90 ELBOW	2	\$60.53	\$121.06	\$46.56	\$93.12
				\$43,125.74		\$33,173.65

REPLACEMENT COSTS ARE SHOWN FOR <u>REFERENCE ONLY</u> THE SUPPLIER IS LOOKING FOR REASONABLE OFFERS ON THIS INVENTORY MILLIONS MORE AT 35% - 60% DISCOUNT ON OUR WEBSITE DOES YOUR VENDOR GIVE YOU EXTRA DISCOUNTS? - WE DO!

ALL PRODUCT GUARANTEED MAKE AN OFFER

www.deadstockbroker.com



Item Number	Item Description	Qty	Unit Replacement Cost CAD	Total Replacement Cost <mark>CAD</mark>	-	Total Replacement Cost USD
	Called Martin	Party -	X	T	1000	